TARGET To count using fractions.

Examples
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Count on six steps of one half from 21,

i 1 1 1
Answer 23, 3, 35, 4, 4}, 5, 53

A

Give the first six numbers.

ﬁ Count on in tenths from 0.
€3 Count on in twelfths from 2.
€} Count on in halves from 5.
€3 Count on in eighths from %
) Count on in quarters from 2%

{3 Count on in sixths from 0.

Give the first six numbers.

: 1 3
o Count on in steps of ¢ from =.
1

€© Count on in steps of 75 from 2.

0 10

€ counton in steps of L from &.

12 12
© Count on in steps of Z from 0.

© count on in steps of £ from 0.
@ count on in steps of 2 from 0.

C

Copy and complete each sequence.
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Count back five steps of one tenth from 12,

2 7 9 8§ 7
Answer Iﬁ, 71—0' 1, T6¢ T3 T3

Count back to 0:
@ in thirds from 2

&) in fifths from 1

@ in halves from 4
() in tenths from i~
@ in sevenths from 1
€5 in quarters from 1

Count back six steps:
€ of one eighth from 12

e of two thirds from 4

o of one fifth from 2

@ of one half from 32

0 of two tenths from 1
@ of three twelfths from 12,

Copy and complete.
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